

## Certain Integral Transforms of Generalized $k$ -Bessel Function

Kottakkaran Sooppy Nisar<sup>1,\*</sup>, Waseem Ahmad Khan<sup>2</sup>  
and Mohd Ghayasuddin<sup>2</sup>

<sup>1</sup> Department of Mathematics, College of Arts and Science-Wadi Aldawaser, Prince Sattam bin Abdulaziz University, 11991, Alkharj, Kingdom of Saudi Arabia

<sup>2</sup> Department of Mathematics, Faculty of Science, Integral University, Lucknow-226026, India

Received 6 June 2017; Accepted (in revised version) 11 December 2017

---

**Abstract.** The objective of this note is to provide some (potentially useful) integral transforms (for example, Euler, Laplace, Whittaker etc.) associated with the generalized  $k$ -Bessel function defined by Saiful and Nisar [3]. We have also discussed some other transforms as special cases of our main results.

**Key Words:** Gamma function,  $k$ -Bessel function, generalized  $k$ -Bessel function, integral transforms.

**AMS Subject Classifications:** 33C10, 65R10, 26A33

---

### 1 Introduction

The Bessel function of first kind has the power series representation of the form [4]:

$$J_\nu(z) = \sum_{k=0}^{\infty} \frac{(-1)^k \left(\frac{z}{2}\right)^{2k+\nu}}{\Gamma(k+\nu+1)k!}, \quad (1.1)$$

Romero et al. [16] introduced the  $k$ -Bessel function of the first kind defined by the series

$$J_{k,\nu}^{\gamma,\lambda}(x) = \sum_{n=0}^{\infty} \frac{(\gamma)_{n,k}}{\Gamma_k(\lambda n + \nu + 1)} \frac{(-1)^n (x/2)^n}{(n!)^2}, \quad (1.2)$$

where  $k \in \mathbb{R}$ ;  $\alpha, \lambda, \gamma, \nu \in \mathbb{C}$ ;  $\Re(\lambda) > 0$  and  $\Re(\nu) > 0$ .

---

\*Corresponding author. Email addresses: ksnisar1@gmail.com; n.sooppy@psau.edu.sa (K. S. Nisar), waseem08\_khan@rediffmail.com (W. A. Khan), ghayas.maths@gmail.com (M. Ghayasuddin)

Very recently, Saiful and Nisar [3] gave a new generalization of  $k$ -Bessel function called the generalized  $k$ -Bessel function of the first kind defined for  $k \in \mathbb{R}; \sigma, \gamma, \nu, c, b \in \mathbb{C}; \Re(\sigma) > 0, \Re(\nu) > 0$  as:

$$J_{k,\nu}^{b,c,\gamma,\sigma}(z) = \sum_{n=0}^{\infty} \frac{(c)^n (\gamma)_{n,k}}{\Gamma_k(\sigma n + \nu + \frac{b+1}{2})} \frac{(z/2)^{\nu+2n}}{(n!)^2}, \tag{1.3}$$

where the  $k$ -Pochhammer symbol  $(\gamma)_{n,k}$  is defined by [1]:

$$(\gamma)_{\nu,k} = \frac{\Gamma_k(\gamma + \nu k)}{\Gamma_k(\gamma)}, \quad (\gamma \in \mathbb{C} \setminus \{0\}), \tag{1.4}$$

and the  $k$ -gamma function has the relation

$$\Gamma_k(z) = k^{\frac{z}{k}-1} \Gamma\left(\frac{z}{k}\right), \tag{1.5}$$

such that  $\Gamma_k(z) \rightarrow \Gamma(z)$  if  $k \rightarrow 1$ .

The generalized hypergeometric function represented as follows [6]:

$${}_pF_q \left[ \begin{matrix} (\alpha_p) \\ (\beta_q) \end{matrix}, z \right] = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (\alpha_j)_n z^n}{\prod_{j=1}^q (\beta_j)_n n!}, \tag{1.6}$$

provided  $p \leq q, p = q + 1$  and  $|z| < 1$  and  $(\alpha)_n$  is well known Pochhammer symbol (see [6]). The Fox-Wright generalization  ${}_p\Psi_q(z)$  of hypergeometric function  ${}_pF_q$  is given by (c.f. [7-9, 15]):

$$\begin{aligned} {}_p\Psi_q \left[ \begin{matrix} (\alpha_1, A_1), \dots, (\alpha_p, A_p) \\ (\beta_1, B_1), \dots, (\beta_q, B_q) \end{matrix}, z \right] &= {}_p\Psi_q((\alpha_j, A_j)_{1,p}; (\beta_j, B_j)_{1,q}; z) \\ &= \sum_{n=0}^{\infty} \frac{\Gamma(\alpha_1 + A_1 n) \cdots \Gamma(\alpha_p + A_p n)}{\Gamma(\beta_1 + B_1 n) \cdots \Gamma(\beta_q + B_q n)} \frac{z^n}{n!} \end{aligned} \tag{1.7}$$

where  $A_j > 0 (j = 1, 2, \dots, p); B_j > 0 (j = 1, 2, \dots, q)$  and

$$1 + \sum_{j=1}^q B_j - \sum_{j=1}^p A_j \geq 0$$

for suitably bounded value of  $|z|$ .

The generalized  $k$ -Wright function introduced in [10] as: For  $k \in \mathbb{R}^+; z \in \mathbb{C}, \alpha_i, \beta_j \in \mathbb{R}(\alpha_i, \beta_j \neq 0; i = 1, 2, \dots, p; j = 1, 2, \dots, q)$  and  $(a_i + \alpha_i n), (b_j + \beta_j n) \in \mathbb{C} \setminus k\mathbb{Z}^-$

$${}_p\Psi_q^k(z) = {}_p\Psi_q \left[ \left( \begin{matrix} (a_i, \alpha_i)_{1,p} \\ (b_j, \beta_j)_{1,q} \end{matrix} \middle| z \right) \right] = \sum_{n=0}^{\infty} \frac{\prod_{i=1}^p \Gamma_k(a_i + \alpha_i n)}{\prod_{j=1}^q \Gamma_k(b_j + \beta_j n)} \frac{z^n}{n!}. \tag{1.8}$$

Also, we recall here the following definitions:

**Definition 1.1.** Euler Transform: Let  $\alpha, \beta \in \mathbb{C}$  and  $\Re(\alpha), \Re(\beta) > 0$ , then the Euler transform of the function  $f(t)$  is defined by

$$B\{f(t); \alpha, \beta\} = \int_0^1 t^{\alpha-1} (1-t)^{\beta-1} f(t) dt. \tag{1.9}$$

**Definition 1.2.** Laplace Transform: The Laplace transform of the function  $f(t)$  is defined as

$$F(s) = L\{f(t); s\} = \int_0^\infty e^{-st} f(t) dt, \quad \Re(s) > 0. \tag{1.10}$$

**Definition 1.3.**  $K$ -Transform: The  $K$ -transform with  $p$  as a complex parameter defined by

$$R_v\{f(x); p\} = g(p; v) = \int_0^\infty (px)^{\frac{1}{2}} K_v(px) f(x) dx. \tag{1.11}$$

Also, we need the following formula (see [13, page 78])

$$\int_0^\infty x^{\rho-1} K_v(ax) dx = 2^{\rho-2} a^{-\rho} \Gamma\left(\frac{\rho \pm v}{2}\right). \tag{1.12}$$

**Definition 1.4.** Whittaker Transform: The integral transform

$$F(x) = \int_0^\infty (2xt)^{-\frac{1}{4}} W_{\lambda, \mu}(2xt) f(t) dt, \tag{1.13}$$

where  $W_{\lambda, \mu}$  is the Whittaker function [12].

## 2 Main results

In this section, we give some integral transforms (for example, Euler, Laplace, Whittaker etc.) of generalized  $k$ -Bessel function given in (1.3).

**Theorem 2.1.** If  $k \in \mathbb{R}; \alpha, \beta, \sigma, \gamma, v, c, b \in \mathbb{C}; \Re(\beta) > 0, \Re(\sigma) > 0, \Re(\lambda) > 0, \Re(\frac{\gamma}{k}) > 0, \Re(\frac{v}{k} + \frac{b+1}{k}) > 0, \min\{\Re(\sigma v + \alpha), \Re(\sigma v + \beta) > 0\} > 0$ , then

$$\begin{aligned} & \int_0^1 z^{\alpha-1} (1-z)^{\beta-1} J_{k, \nu}^{b, c, \gamma, \lambda}(xz^\sigma) dz \\ &= \frac{\Gamma(\beta) \left(\frac{x}{2}\right)^v k^{1-\frac{v}{k}-\frac{b+1}{2k}}}{\Gamma\left(\frac{\gamma}{k}\right)} {}_2\Psi_3 \left[ \begin{matrix} \left(\frac{\gamma}{k}, 1\right), (\sigma v + \alpha, 2\sigma) \\ \left(\frac{v}{k} + \frac{b+1}{2k}, \frac{\lambda}{k}\right), (\sigma v + \beta, 2\sigma) \end{matrix} \middle| \frac{cx^2}{4k^{\frac{\lambda}{k}-1}} \right], \end{aligned} \tag{2.1}$$

where  ${}_2\Psi_3$  is the Wright hypergeometric function defined by (1.7).

*Proof.* In order to derive (2.1), we denote the L.H.S. of (2.1) by  $I_1$  and then by using the definition of generalized  $k$ -Bessel function given in (1.3), we have

$$J_1 = \int_0^1 z^{\alpha-1} (1-z)^{\beta-1} \sum_{n=0}^{\infty} \frac{(c)^n (\gamma)_{n,k}}{\Gamma_k\left(\lambda n + v + \frac{b+1}{2}\right)} \frac{(xz^\sigma/2)^{v+2n}}{(n!)^2} dz.$$

Interchanging the integration and summation with suitable convergence conditions, we get

$$J_1 = \sum_{n=0}^{\infty} \frac{(c)^n (\gamma)_{n,k}}{\Gamma_k\left(\lambda n + v + \frac{b+1}{2}\right)} \frac{\left(\frac{x}{2}\right)^{v+2n}}{(n!)^2} \int_0^1 z^{\alpha+\sigma v+2\sigma n-1} (1-z)^{\beta-1} dz,$$

which upon using the definition of Beta function gives

$$J_1 = \sum_{n=0}^{\infty} \frac{(c)^n (\gamma)_{n,k}}{\Gamma_k\left(\lambda n + v + \frac{b+1}{2}\right)} \frac{\left(\frac{x}{2}\right)^{v+2n}}{(n!)^2} \frac{\Gamma(\alpha + 2\sigma n + \sigma v) \Gamma(\beta)}{\Gamma(\alpha + \beta + 2\sigma n + \sigma v)}.$$

Now using (1.4) and (1.5), we get

$$J_1 = \Gamma(\beta) \left(\frac{x}{2}\right)^v \sum_{n=0}^{\infty} \frac{(c)^n k^n \Gamma\left(\frac{\gamma}{k} + n\right)}{\Gamma\left(\frac{\gamma}{k}\right) k^{\frac{\lambda n + \mu}{k} + \frac{l+1}{2k} - 1} \Gamma\left(\frac{\lambda}{k} n + \frac{v}{k} + \frac{b+1}{2k}\right)} \times \frac{\Gamma(\alpha + 2\sigma n + \sigma v)}{\Gamma(\alpha + \beta + 2\sigma n + \sigma v)} \frac{\left(\frac{x}{2}\right)^{2n}}{(n!)^2}.$$

In view of the definition of (1.7) we get the desired result. □

**Corollary 2.1.** If we take  $k=1$ , in Theorem 2.1, then we have the following integral transform

$$\int_0^1 z^{\alpha-1} (1-z)^{\beta-1} J_{1,\nu}^{b,c,\gamma,\lambda}(xz^\sigma) dz = \frac{\Gamma(\beta) \left(\frac{x}{2}\right)^v}{\Gamma(\gamma)} {}_2\Psi_3 \left[ \begin{matrix} (\gamma, 1), (\sigma v + \alpha, 2\sigma) \\ \left(v + \frac{b+1}{2}, \lambda\right), (\sigma v + \beta, 2\sigma) \end{matrix} \middle| \frac{cx^2}{4} \right].$$

**Theorem 2.2.** If  $k \in \mathbb{R}$ ,  $b, \lambda, v, \gamma, a, c, \sigma \in \mathbb{C}$ ,  $\min\{\Re(\lambda), \Re(v)\} > 0$ ,  $\Re(s) > 0$ ,  $\Re\left(\frac{\gamma}{k}\right) > 0$ ,  $\Re(\sigma v + a) > 0$ ,  $\Re\left(\frac{v}{k} + \frac{b+1}{2k}\right) > 0$  and  $\left|\frac{x}{s^\sigma}\right| < 1$ , then we have

$$\int_0^\infty z^{a-1} e^{-sz} J_{k,\nu}^{b,c,\gamma,\lambda}(xz^\sigma) dz = \frac{\left(\frac{x}{2}\right)^v s^{-(v\sigma+a)} k^{1-\frac{v}{k}-\frac{b+1}{2k}}}{\Gamma\left(\frac{\gamma}{k}\right)} {}_2\Psi_2 \left[ \begin{matrix} \left(\frac{\gamma}{k}, 1\right), (\sigma v + a, 2\sigma) \\ \left(\frac{v}{k} + \frac{b+1}{2k}, \frac{\lambda}{k}\right), (1, 1) \end{matrix} \middle| \frac{cx^2 k^{1-\frac{\lambda}{k}}}{4s^{2\sigma}} \right]. \tag{2.2}$$

*Proof.* Let  $\mathcal{J}_2$  denoted by the left hand side of Theorem 2.2. Applying (1.3) on the L.H.S. of (2.2), to get

$$\mathcal{J}_2 = \int_0^\infty z^{a-1} e^{-sz} \sum_{n=0}^\infty \frac{(c)^n (\gamma)_{n,k}}{\Gamma_k\left(\lambda n + v + \frac{b+1}{2}\right)} \frac{\left(\frac{xz^\sigma}{2}\right)^{v+2n}}{(n!)^2} dz.$$

Interchanging the integration and summation allow us to write,

$$\mathcal{J}_2 = \sum_{n=0}^\infty \frac{(c)^n (\gamma)_{n,k}}{\Gamma_k\left(\lambda n + v + \frac{b+1}{2}\right)} \frac{\left(\frac{x}{2}\right)^{v+2n}}{(n!)^2} \int_0^1 z^{a+\sigma v+2\sigma n-1} e^{-sz} dz.$$

In view of the definition of Laplace transform, we get

$$\mathcal{J}_2 = \sum_{n=0}^\infty \frac{(c)^n (\gamma)_{n,k}}{\Gamma_k\left(\lambda n + v + \frac{b+1}{2}\right)} \frac{\left(\frac{x}{2}\right)^{v+2n}}{(n!)^2} \frac{\Gamma(a+2\sigma n+\sigma v)}{s^{a+2\sigma n+\sigma v}}.$$

Now by applying (1.5) in the above equation, we have

$$\mathcal{J}_2 = \left(\frac{x}{2}\right)^v s^{-(v\sigma+a)} \sum_{n=0}^\infty \frac{(c)^n k^n \Gamma\left(\frac{\gamma}{k} + n\right) \Gamma(a+2\sigma n+\sigma v)}{\Gamma\left(\frac{\gamma}{k}\right) k^{\frac{\lambda n+v}{k} + \frac{b+1}{2k}} \Gamma\left(\frac{\lambda n+v}{k} + \frac{b+1}{2k}\right)} \frac{\left(\frac{x}{2}\right)^{2n}}{(n!)^2},$$

which by using the definition (1.7), gives our desired result. □

**Corollary 2.2.** For  $k=1$  in Theorem 2.2, we have

$$\begin{aligned} & \int_0^\infty z^{a-1} e^{-sz} J_{k,v}^{b,c,\gamma,\lambda}(xz^\sigma) dz \\ &= \frac{\left(\frac{x}{2}\right)^v s^{-(v\sigma+a)}}{\Gamma(\gamma)} {}_2\Psi_2 \left[ \begin{matrix} (\gamma, 1), (\sigma v+a, 2\sigma) \\ \left(v + \frac{b+1}{2}, \lambda\right), (1, 1) \end{matrix} \middle| \frac{cx^2}{4s^{2\sigma}} \right]. \end{aligned}$$

**Theorem 2.3.** If  $k \in \mathbb{R}$ ,  $b, \lambda, v, \gamma, a, c, \sigma \in \mathbb{C}$ ,  $\min\{\Re(\lambda), \Re(\sigma)\} > 0$ ,  $\Re(\rho) > 0$ ,  $\Re\left(\frac{\gamma}{k}\right) > 0$ ,  $\Re(\sigma v+a) > 0$ ,  $\Re\left(\frac{\rho+\sigma v \pm \mu}{2}\right) > 0$  and  $\left|\frac{x}{s^\sigma}\right| < 1$ , then

$$\begin{aligned} & \int_0^\infty z^{\rho-1} K_\mu(az) J_{k,v}^{b,c,\gamma,\lambda}(xz^\sigma) dz \\ &= \frac{\left(\frac{x}{2}\right)^v 2^{(\rho+\sigma v-2)} a^{-(\rho+\sigma v)} k^{1-\frac{v}{k}-\frac{b+1}{2k}}}{\Gamma\left(\frac{\gamma}{k}\right)} {}_2\Psi_2 \left[ \begin{matrix} \left(\frac{\gamma}{k}, 1\right), \left(\frac{\rho+\sigma v \pm \mu}{2}, \sigma\right) \\ \left(\frac{v}{k} + \frac{b+1}{2k}, \frac{\lambda}{k}\right), (1, 1) \end{matrix} \middle| \frac{c4^\sigma x^2 k^{1-\frac{\lambda}{k}}}{4a^{2\sigma}} \right]. \end{aligned} \tag{2.3}$$

*Proof.* Let  $J_3$  denoted by the left hand side of Theorem 2.3. Applying (1.3) on the L.H.S. of (2.3), to get

$$J_3 = \int_0^\infty z^{\rho-1} K_\mu(az) \sum_{n=0}^\infty \frac{(c)^n (\gamma)_{n,k}}{\Gamma_k\left(\lambda n + v + \frac{b+1}{2}\right)} \frac{\left(\frac{xz^\sigma}{2}\right)^{v+2n}}{(n!)^2} dz.$$

Interchanging the integration and summation allow us to write,

$$J_3 = \sum_{n=0}^\infty \frac{(c)^n (\gamma)_{n,k}}{\Gamma_k\left(\lambda n + v + \frac{b+1}{2}\right)} \frac{\left(\frac{x}{2}\right)^{v+2n}}{(n!)^2} \int_0^1 z^{\rho+\sigma v+2\sigma n-1} K_\mu(az) dz.$$

Using the formula given in (1.12) in the above expression, we get

$$J_3 = \sum_{n=0}^\infty \frac{(c)^n (\gamma)_{n,k}}{\Gamma_k\left(\lambda n + v + \frac{b+1}{2}\right)} \frac{\left(\frac{x}{2}\right)^{v+2n}}{(n!)^2} 2^{(\rho+2\sigma n+\sigma v-2)} a^{-(\rho+2\sigma n+\sigma v)} \Gamma\left(\frac{\rho+2\sigma n+\sigma v \pm \mu}{2}\right).$$

By applying (1.5), we have

$$J_3 = \left(\frac{x}{2}\right)^v 2^{(\rho+\sigma v-2)} a^{-(\rho+\sigma v)} \sum_{n=0}^\infty \frac{(c)^n k^n \Gamma\left(\frac{\gamma}{k} + n\right) \Gamma\left(\frac{\rho+2\sigma n+\sigma v \pm \mu}{2}\right) \left(\frac{x}{2}\right)^{2n} 2^{2\sigma n} a^{-2\sigma n}}{\Gamma\left(\frac{\gamma}{k}\right) k^{\frac{\lambda n+v}{k} + \frac{b+1}{2k}} \Gamma\left(\frac{\lambda n+v}{k} + \frac{b+1}{2k}\right) (n!)^2}.$$

In view of definition (1.7), we get the desired result. □

**Corollary 2.3.** For  $k = 1$  in Theorem 2.3, we get the following interesting integral transform

$$\begin{aligned} & \int_0^\infty z^{\rho-1} K_\mu(az) J_v^{b,c,\gamma,\lambda}(xz^\sigma) dz \\ &= \frac{\left(\frac{x}{2}\right)^v 2^{(\rho+\sigma v-2)} a^{-(\rho+\sigma v)}}{\Gamma(\gamma)} {}_2\Psi_2 \left[ \begin{matrix} (\gamma, 1), \left(\frac{\rho+\sigma v \pm \mu}{2}, \sigma\right) \\ (v+b+1, \lambda), (1, 1) \end{matrix} \middle| \frac{c4^\sigma x^2}{4a^{2\sigma}} \right]. \end{aligned}$$

In the following theorem, we derive the Whittaker transform of generalized  $k$ -Bessel function. Here, we recall the following results:

$$\int_0^\infty t^{v-1} e^{-\frac{t}{2}} W_{\lambda,\mu}(t) dt = \frac{\Gamma\left(\frac{1}{2} + \mu + v\right) \Gamma\left(\frac{1}{2} - \mu + v\right)}{\Gamma(1 - \lambda + v)}, \quad \Re(v \pm \mu) > -1/2, \tag{2.4}$$

where the Whittaker function  $W_{\lambda,\mu}(t)$  is given in [12] (also see [14]), and

$$\int_0^\infty t^{v-1} e^{-\frac{t}{2}} M_{\lambda,m}(t) dt = \frac{\Gamma(2m+1) \Gamma(m+v+\frac{1}{2}) \Gamma(\lambda-v)}{\Gamma(m-v+\frac{1}{2}) \Gamma(m+\lambda+\frac{1}{2})}, \tag{2.5}$$

where  $M_{\lambda,\mu}(t)$  is defined as

$$M_{\lambda,\mu}(t) = z^{\frac{1}{2}+\mu} e^{-\frac{1}{2}t} {}_1F_1\left(\frac{1}{2} + \mu + \lambda; 2\mu + 1; t\right).$$

**Theorem 2.4.** *If  $k \in \mathbb{R}^+$ ,  $\lambda, \mu, \beta, b, c, \gamma, \lambda \in \mathbb{C}$ ,  $\Re(\rho \pm \mu) > -\frac{1}{2}$ ,  $\Re(\rho) > 0$ ,  $\Re(\frac{\gamma}{k}) > 0$ ,  $\Re(\frac{\sigma}{k} + \frac{l+1}{2k}) > 0$ ,  $\min\{\Re(\delta), \Re(\lambda)\} > 0$ ,  $\Re(\rho - \lambda') > 0$ , then*

$$\begin{aligned} & \int_0^\infty t^{\rho-1} e^{-\frac{pt}{2}} W_{\lambda', \mu}(pt) J_{k, \sigma}^{b, c, \gamma, \lambda}(wt^\delta) dt \\ &= \frac{1}{p^{\rho+\sigma\delta}} \frac{(w/2)^\sigma}{\Gamma(\frac{\gamma}{k}) k^{\frac{\sigma}{k} + \frac{b+1}{2k} - 1}} \\ & \quad \times {}_3\Psi_3 \left[ \begin{matrix} (\frac{\gamma}{k}, 1), (\frac{1}{2} + \mu + \rho + \delta\sigma, 2\delta), (\frac{1}{2} - \mu + \rho + \delta\sigma, 2\delta) \\ (\frac{\sigma}{k} + \frac{l+1}{2k}, \frac{\lambda}{k}), (1 - \lambda' + \rho + \delta\sigma, 2\delta), (1, 1) \end{matrix} \middle| \frac{ck^{1-\frac{\lambda}{k}} w^2}{4p^{2\delta}} \right], \end{aligned} \tag{2.6}$$

where  $W_{\lambda', \mu}$  is the Whittaker function of second kind (see [1]).

*Proof.* Let  $pt = v$ , then

$$\begin{aligned} & \int_0^\infty t^{\rho-1} e^{-\frac{pt}{2}} W_{\lambda', \mu}(pt) J_{k, \sigma}^{b, c, \gamma, \lambda}(wt^\delta) dt \\ &= \int_0^\infty e^{-\frac{v}{2}} \left(\frac{v}{p}\right)^{\rho-1} W_{\lambda', \mu}(v) \sum_{n=0}^\infty \frac{c^n (\gamma)_{n, k} (w/2)^{2n+\sigma}}{(n!)^2 \Gamma_k(\lambda n + \sigma + \frac{b+1}{2})} \left[\left(\frac{\vartheta}{p}\right)^\delta\right]^{2n+\sigma} \frac{1}{p} dv. \end{aligned}$$

Interchanging the integration and summation allow us to write

$$\begin{aligned} &= \sum_{n=0}^\infty \frac{c^n (\gamma)_{n, k} (w/2)^{2n+\sigma}}{(n!)^2 \Gamma_k(\lambda n + \sigma + \frac{b+1}{2})} p^{2\delta n} \int_0^\infty e^{-\frac{v}{2}} \left(\frac{v}{p}\right)^{\rho+2n\delta+\sigma\delta-1} W_{\lambda', \mu}(v) \frac{1}{p} dv, \\ &= \frac{1}{p^{\rho+\sigma\delta}} \sum_{n=0}^\infty \frac{c^n (\gamma)_{n, k} (w/2)^{2n+\sigma}}{(n!)^2 \Gamma_k(\lambda n + \sigma + \frac{b+1}{2})} p^{2\delta n} \int_0^\infty e^{-\frac{v}{2}} (v)^{\rho+2n\delta+\sigma\delta-1} W_{\lambda', \mu}(v) dv. \end{aligned}$$

Using the formula for Whittaker transform (2.4), we get

$$\begin{aligned} &= \frac{1}{p^{\rho+\sigma\delta}} \sum_{n=0}^\infty \frac{c^n (\gamma)_{n, k} (w/2)^{2n+\sigma}}{(n!)^2 \Gamma_k(\lambda n + \sigma + \frac{b+1}{2})} p^{2\delta n} \\ & \quad \times \frac{\Gamma(\frac{1}{2} + \mu + 2\delta n + \rho + \sigma\delta) \Gamma(\frac{1}{2} - \mu + 2\delta n + \rho + \sigma\delta)}{\Gamma(1 - \lambda' + \rho + 2\delta n + \sigma\delta)}. \end{aligned}$$

Applying (1.4) and (1.5), to get

$$\begin{aligned} &= \frac{1}{p^{\rho+\sigma\delta}} \frac{(w/2)^\sigma}{\Gamma(\frac{\gamma}{k}) k^{\frac{\sigma}{k} + \frac{b+1}{2k} - 1}} \sum_{n=0}^\infty \frac{c^n k^n \Gamma(\frac{\gamma}{k} + n) \left(\frac{w^2}{4p^{2\delta}}\right)^n}{k^{\frac{\lambda}{k} n} (n!)^2 \Gamma\left(\frac{\lambda n + \sigma}{k} + \frac{b+1}{2k}\right)} \\ & \quad \times \frac{\Gamma(\frac{1}{2} + \mu + 2\delta n + \rho + \sigma\delta) \Gamma(\frac{1}{2} - \mu + 2\delta n + \rho + \sigma\delta)}{\Gamma(1 - \lambda' + \rho + 2\delta n + \sigma\delta)}. \end{aligned}$$

In view of (1.7), we get the desired result. □

**Corollary 2.4.** For  $k = 1$  in Theorem 2.4, we get

$$\int_0^\infty t^{\rho-1} e^{-\frac{pt}{2}} W_{\lambda,\mu}(pt) J_{1,\sigma}^{b,c,\gamma,\lambda}(wt^\delta) dt$$

$$= \frac{1}{p^{\rho+\sigma\delta}} \frac{(w/2)^\sigma}{\Gamma(\gamma)} {}_3\Psi_3 \left[ \begin{matrix} (\gamma, 1), (\frac{1}{2} + \mu + \rho + \delta\sigma, 2\delta), (\frac{1}{2} - \mu + \rho + \delta\sigma, 2\delta) \\ (\sigma + \sigma, \lambda), (1 - \lambda' + \rho + \delta\sigma, 2\delta), (1, 1) \end{matrix} \middle| \frac{cw^2}{4p^{2\delta}} \right].$$

**Theorem 2.5.** If  $k \in \mathbb{R}^+$ ,  $\lambda, \mu, \beta, b, c, \gamma, \lambda \in \mathbb{C}$ ,  $\Re(\frac{\gamma}{k}) > 0$ ,  $\Re(\frac{\sigma}{k} + \frac{l+1}{2k}) > 0$ ,  $\min\{\Re(\delta), \Re(\lambda)\} > 0$ ,  $\Re(m) > -\frac{1}{2}$ ,  $\Re(\mu) > 0$ ,  $\Re(\nu) > 0$  and  $\Re(m \pm \rho) > -\frac{1}{2}$ , then

$$\int_0^\infty t^{\rho-1} e^{-\frac{pt}{2}} M_{\mu,m}(pt) J_{k,\nu}^{b,c,\gamma,\lambda}(wt^\delta) dt$$

$$= \frac{1}{p^{\rho+\nu\delta}} \frac{(w/2)^\nu \Gamma(2m+1)}{\Gamma(\frac{\gamma}{k}) \Gamma(m+\mu+\frac{1}{2}) k^{\frac{\nu}{k} + \frac{b+1}{2k} - 1}}$$

$$\times {}_3\Psi_3 \left[ \begin{matrix} (\frac{\gamma}{k}, 1), (\frac{1}{2} + m + \rho + \nu\delta, 2\delta), (\mu - \rho - \nu\delta, -2\delta) \\ (\frac{\nu}{k} + \frac{b+1}{2k}, \frac{\lambda}{k}), (m - \rho - \nu\delta + \frac{1}{2}, -2\delta), (1, 1) \end{matrix} \middle| \frac{ck^{1-\frac{1}{k}} w^2}{4p^{2\delta}} \right]. \tag{2.7}$$

*Proof.* Let  $pt = v$ , then

$$\int_0^\infty t^{\rho-1} e^{-\frac{pt}{2}} M_{\mu,m}(pt) J_{k,\nu}^{b,c,\gamma,\lambda}(wt^\delta) dt$$

$$= \int_0^\infty e^{-\frac{v}{2}} \left(\frac{v}{p}\right)^{\rho-1} M_{\mu,m}(v) \sum_{n=0}^\infty \frac{c^n (\gamma)_{n,k} (w/2)^{2n+\nu}}{(n!)^2 \Gamma_k(\lambda n + \nu + \frac{b+1}{2})} \left[\left(\frac{\vartheta}{p}\right)^\delta\right]^{2n+\nu} \frac{1}{p} dv.$$

Interchanging the integration and summation allow us to write

$$= \sum_{n=0}^\infty \frac{c^n (\gamma)_{n,k} (w/2)^{2n+\nu}}{(n!)^2 \Gamma_k(\lambda n + \nu + \frac{b+1}{2}) p^{2\delta n}} \int_0^\infty e^{-\frac{v}{2}} \left(\frac{v}{p}\right)^{\rho+2n\delta+\nu\delta-1} M_{\mu,m}(v) \frac{1}{p} dv$$

$$= \frac{1}{p^{\rho+\nu\delta}} \sum_{n=0}^\infty \frac{c^n (\gamma)_{n,k} (w/2)^{2n+\nu}}{(n!)^2 \Gamma_k(\lambda n + \nu + \frac{b+1}{2}) p^{2\delta n}} \int_0^\infty e^{-\frac{v}{2}} (v)^{\rho+2n\delta+\nu\delta-1} M_{\mu,m}(v) dv.$$

On using (2.5), we get

$$= \frac{1}{p^{\rho+\nu\delta}} \sum_{n=0}^\infty \frac{c^n (\gamma)_{n,k} (w/2)^{2n+\nu}}{(n!)^2 \Gamma_k(\lambda n + \nu + \frac{b+1}{2}) p^{2\delta n}}$$

$$\times \frac{\Gamma(2m+1) \Gamma(m+\rho+\nu\delta+2n\delta+\frac{1}{2}) \Gamma(\mu-\rho-\nu\delta-2n\delta)}{\Gamma(m-\rho-\nu\delta-2n\delta+\frac{1}{2}) \Gamma(m+\mu+\frac{1}{2})}.$$



By applying (1.4) and (1.5), we obtain

$$\begin{aligned}
 &= \frac{1}{p^{\rho+\nu\delta}} \frac{(w/2)^\nu}{\Gamma\left(\frac{\gamma}{k}\right) k^{\frac{\nu}{k} + \frac{b+1}{2k} - 1}} \sum_{n=0}^{\infty} \frac{c^n k^n \Gamma\left(\frac{\gamma}{k} + n\right) \left(\frac{w^2}{4p^{2\delta}}\right)^n}{k^{\frac{\lambda}{k} n} (n!)^2 \Gamma\left(\frac{\lambda n + \nu}{k} + \frac{b+1}{2k}\right)} \\
 &\quad \times \frac{\Gamma(2m+1) \Gamma\left(m + \rho + \nu\delta + 2n\delta + \frac{1}{2}\right) \Gamma\left(\mu - \rho - \nu\delta - 2n\delta\right)}{\Gamma\left(m - \rho - \nu\delta - 2n\delta + \frac{1}{2}\right) \Gamma\left(m + \mu + \frac{1}{2}\right)}.
 \end{aligned}$$

In view of (1.7), we get the desired result. □

**Corollary 2.5.** For  $k=1$  in Theorem 2.5, we get

$$\begin{aligned}
 &\int_0^\infty t^{\rho-1} e^{-\frac{pt}{2}} M_{\mu,m}(pt) J_{1,\nu}^{b,c,\gamma,\lambda}(wt^\delta) dt \\
 &= \frac{1}{p^{\rho+\sigma\delta}} \frac{(w/2)^\sigma}{\Gamma(\gamma)} {}_3\Psi_3 \left[ \begin{matrix} (\gamma, 1), \left(\frac{1}{2} + \mu + \rho + \delta\sigma, 2\delta\right), \left(\frac{1}{2} - \mu + \rho + \delta\sigma, 2\delta\right) \\ (\sigma + \sigma, \lambda), (1 - \lambda + \rho + \delta\sigma, 2\delta), (1, 1) \end{matrix} \middle| \frac{cw^2}{4p^{2\delta}} \right].
 \end{aligned}$$

### Acknowledgements

The authors would like to thank reviewer’s valuable comments and suggestions.

### References

- [1] R. Díaz and E. Pariguan, On hypergeometric functions and  $k$ -Pochhammer symbol, *Divulg. Mat.*, 15(2) (2007), 179–192.
- [2] K. S. Gehlot, Differential equation of  $K$ -Bessel’s function and its properties, *Nonlinear Analysis and Differential Equations*, 2(2) (2014), 61–67.
- [3] S. R. Mondal and K. S. Nisar, Certain unified integral formulas involving the generalized modified  $k$ -Bessel function of first kind, *Commun. Korean Math. Soc.*, 32 (2017), 47–53.
- [4] G. N. Watson, *A Treatise on the Theory of Bessel Functions*, Cambridge University Press, Cambridge, 1992.
- [5] K. S. Gehlot and S. D. Purohit, Fractional calculus of  $K$ -Bessel’s function, *Acta Universitatis Apulensis*, 38 (2014), 273–278.
- [6] E. D. Rainville, *Special Functions*, Macmillan, New York, 1960.
- [7] C. Fox, The asymptotic expansion of generalized hypergeometric functions, *Proc. London. Math. Soc.*, 27(4) (1928), 389–400
- [8] E. M. Wright, The asymptotic expansion of integral functions defined by Taylor series, *Philos. Trans. Roy. Soc. London, Ser. A*, 238 (1940), 423–451.
- [9] E. M. Wright, The asymptotic expansion of the generalized hypergeometric function, *Proc. London Math. Soc.*, 46(2) (1940), 389–408.
- [10] K. S. Gehlot and J. C. Prajapati, Fractional calculus of generalized  $K$ -wright function, *Journal of Fractional Calculus and Applications*, 4 (2013), 283–289.
- [11] Y. Luchko, H. Martinez and J. Trujillo, Fractional Fourier transform and some of its applications, *Fractional Calculus and Applied Analysis*, An International Journal for Theory and Applications, 11(4) (2008), 457–470.

- [12] A. Erdélyi, W. Magnus, F. Oberhettinger and F. G. Tricomi, *Tables of Integral Transforms*, Vol. 2, McGraw-Hill, New York-Toronto-London, 1954.
- [13] A. M. Mathai and R. K. Saxena, *The  $H$ -Function with Applications in Statistics and Other Disciplines*, Wiley Eastern, New Delhi and Wiley Halsted, New York, 1978.
- [14] A. M. Mathai, R. K. Saxena, and H. J. Haubold, *The  $H$ -Function, Theory and Applications*, Springer, New York, 2010.
- [15] H. M. Srivastava, Some Fox-Wright generalized hypergeometric functions and associated families of convolution operators, *Applicable Analysis and Discrete Mathematics*, 1 (2007), 56–71.
- [16] L. G. Romero, G. A. Dorrego and R. A. Cerutti, The  $k$ -Bessel function of first kind, *International Mathematical forum*, 38(7) (2012), 1859–1854.